

Office of the County Engineer

County of Gloucester

Resurfacing and Safety Improvements to Broadway & Evergreen Avenue (CR551 & CR553) between Red Bank Avenue (CR644) and Olive Street in the City of Woodbury, Township of Deptford and Borough of Westville

Engineering Project # 22-06

Bid Date: Wednesday, August 7, 2024, 10:00 am

SUMMARY OF BIDS



SPECIFICATION NO. 22-06

Bid 1 of 4	Bid 2 of 4	Bid 3 of 4
RE Pierson Construction Co., Inc. 426 Swedesboro Road Pilesgrove, NJ 08098 856-624-6165 pstubbs@repierson.com	South State Inc. PO Box 35 Bridgeton, NJ 08302 856-451-5300 bbryan@southstateinc.com	Earle Asphalt Company PO Box 556 Farmingdale, NJ 07727 P. 732-308-1113 delaney.rasmussen@earleco.com

Item No.	Description	Approx. Quantity	Unit	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
1	CLEARING SITE	1	L.S.	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$184,413.51	\$184,413.51
2	NO ITEM				\$0.00		\$0.00		\$0.00
3	EXCAVATION, TEST PIT	20	C.Y.	\$0.01	\$0.20	\$0.01	\$0.20	\$0.01	\$0.20
4	EXCAVATION, UNCLASSIFIED	100	C.Y.	\$0.01	\$1.00	\$0.01	\$1.00	\$2.50	\$250.00
5	ASPHALT PRICE ADJUSTMENT	1	DOLLAR	\$41,000.00	\$41,000.00	\$41,000.00	\$41,000.00	\$41,000.00	\$41,000.00
6	FUEL PRICE ADJUSTMENT	1	DOLLAR	\$23,000.00	\$23,000.00	\$23,000.00	\$23,000.00	\$23,000.00	\$23,000.00
7	NO ITEM				\$0.00		\$0.00		\$0.00
8	STONE PAVERS	150	S.F.	\$90.00	\$13,500.00	\$40.00	\$6,000.00	\$24.00	\$3,600.00
9	RESET STONE PAVERS	900	S.F.	\$85.00	\$76,500.00	\$10.00	\$9,000.00	\$21.00	\$18,900.00
10-11	NO ITEM				\$0.00		\$0.00		\$0.00
12	DENSE-GRADED AGGREGATE BASE COURSE, 6" THICK	500	S.Y.	\$0.01	\$5.00	\$1.00	\$500.00	\$1.00	\$500.00
13	HMA MILLING, 3" OR LESS	60000	S.Y.	\$3.50	\$210,000.00	\$3.00	\$180,000.00	\$3.30	\$198,000.00
14	POLYMERIZED JOINT ADHESIVE	36,000	L.F.	\$0.01	\$360.00	\$1.00	\$36,000.00	\$0.01	\$360.00
15	TACK COAT	6000	GAL	\$5.00	\$30,000.00	\$0.01	\$60.00	\$0.01	\$60.00
16	HOT MIX ASPHALT 12.5ME SURFACE COURSE, 2.5" THICK	8,600	TON	\$93.30	\$802,380.00	\$105.00	\$903,000.00	\$123.50	\$1,062,100.00
17	HOT MIX ASPHALT 9.5M64 INTERMEDIATE COURSE	200	TON	\$0.01	\$2.00	\$0.01	\$2.00	\$60.00	\$12,000.00

SUMMARY OF BIDS



SPECIFICATION NO. 22-06

Bid 1 of 4 RE Pierson Construction Co., Inc. 426 Swedesboro Road Pilesgrove, NJ 08098 856-624-6165 pstubbs@repierson.com	Bid 2 of 4 South State Inc. PO Box 35 Bridgeton, NJ 08302 856-451-5300 bbryan@southstateinc.com	Bid 3 of 4 Earle Asphalt Company PO Box 556 Farmingdale, NJ 07727 P. 732-308-1113 delaney.rasmussen@earleco.com
--	---	---

Item No.	Description	Approx. Quantity	Unit	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
18	HOT MIX ASPHALT 19M64 BASE COURSE, 4" THICK	100	TON	\$0.01	\$1.00	\$0.01	\$1.00	\$50.00	\$5,000.00
19-20	NO ITEM				\$0.00		\$0.00		\$0.00
21	TRAFFIC STRIPES, 4"	38000	L.F.	\$0.70	\$26,600.00	\$0.70	\$26,600.00	\$0.51	\$19,380.00
22	TRAFFIC STRIPES, 8"	1900	L.F.	\$1.40	\$2,660.00	\$1.40	\$2,660.00	\$1.00	\$1,900.00
23	TRAFFIC MARKINGS, LINES, 8"	2300	L.F.	\$1.60	\$3,680.00	\$1.60	\$3,680.00	\$1.65	\$3,795.00
24	TRAFFIC MARKINGS, LINES, 24"	3900	L.F.	\$1.00	\$3,900.00	\$1.00	\$3,900.00	\$4.85	\$18,915.00
25	TRAFFIC MARKINGS, SYMBOLS	39	S.F.	\$7.50	\$292.50	\$7.50	\$292.50	\$7.55	\$294.45
26	RPM BI-DIRECTIONAL, AMBER LENS	210	UNIT	\$40.00	\$8,400.00	\$40.00	\$8,400.00	\$33.00	\$6,930.00
27	RPM BI-DIRECTIONAL, WHITE/RED LENS	2	UNIT	\$40.00	\$80.00	\$40.00	\$80.00	\$33.00	\$66.00
28	RPM BI-DIRECTIONAL, BLUE LENS	18	UNIT	\$40.00	\$720.00	\$40.00	\$720.00	\$33.00	\$594.00
29	REFLECTIVE 'U' POST INSERT	115	UNIT	\$36.00	\$4,140.00	\$37.00	\$4,255.00	\$37.00	\$4,255.00
30	REGULATORY AND WARNING SIGNS	700	S.F.	\$37.00	\$25,900.00	\$40.00	\$28,000.00	\$38.00	\$26,600.00
31	RPM MONO-DIRECTIONAL, WHITE LENS	110	UNIT	\$40.00	\$4,400.00	\$40.00	\$4,400.00	\$33.00	\$3,630.00
32	NO ITEM				\$0.00		\$0.00		\$0.00
33	CONCRETE SIDEWALK, 4" THICK	600	S.Y.	\$130.00	\$78,000.00	\$140.00	\$84,000.00	\$115.00	\$69,000.00
34	HOT MIX ASPHALT DRIVEWAY, 2" THICK	200	S.Y.	\$45.00	\$9,000.00	\$50.00	\$10,000.00	\$35.00	\$7,000.00
35	CONCRETE DRIVEWAY, REINFORCED, 6" THICK	200	S.Y.	\$130.00	\$26,000.00	\$150.00	\$30,000.00	\$115.00	\$23,000.00
36	DETECTABLE WARNING SURFACE	40.05	S.Y.	\$300.00	\$12,015.00	\$300.00	\$12,015.00	\$150.00	\$6,007.50
37	9"x18" CONCRETE VERTICAL CURB	2400	L.F.	\$67.00	\$160,800.00	\$65.00	\$156,000.00	\$43.00	\$103,200.00
38-40	NO ITEM				\$0.00		\$0.00		\$0.00
41	TURF REPAIR STRIP	2800	L.F.	\$3.00	\$8,400.00	\$0.01	\$28.00	\$0.01	\$28.00
42-50	NO ITEM				\$0.00		\$0.00		\$0.00
51	BICYCLE SAFE GRATE	1	UNIT	\$305.00	\$305.00	\$400.00	\$400.00	\$385.00	\$385.00

SUMMARY OF BIDS



SPECIFICATION NO. 22-06

Bid 1 of 4 RE Pierson Construction Co., Inc. 426 Swedesboro Road Pilesgrove, NJ 08098 856-624-6165 pstubbs@repierson.com	Bid 2 of 4 South State Inc. PO Box 35 Bridgeton, NJ 08302 856-451-5300 bbryan@southstateinc.com	Bid 3 of 4 Earle Asphalt Company PO Box 556 Farmingdale, NJ 07727 P. 732-308-1113 delaney.rasmussen@earleco.com
--	---	---

Item No.	Description	Approx. Quantity	Unit	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
52	CURB PIECE	23	UNIT	\$370.00	\$8,510.00	\$400.00	\$9,200.00	\$550.00	\$12,650.00
53	RESET EXISTING CASTING	45	UNIT	\$580.00	\$26,100.00	\$0.01	\$0.45	\$20.00	\$900.00
54	RESET WATER VALVE BOX	65	UNIT	\$50.00	\$3,250.00	\$0.01	\$0.65	\$0.01	\$0.65
55	RESET GAS VALVE BOX	30	UNIT	\$50.00	\$1,500.00	\$0.01	\$0.30	\$0.01	\$0.30
56	NO ITEM				\$0.00		\$0.00		\$0.00
57	12" PERFORATED HIGH DENSITY POLYETHYLENE PIPE	100	L.F.	\$140.00	\$14,000.00	\$200.00	\$20,000.00	\$215.00	\$21,500.00
58-61	NO ITEM				\$0.00		\$0.00		\$0.00
62	INLET, TYPE C	2	UNIT	\$4,000.00	\$8,000.00	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00
63	NO ITEM				\$0.00		\$0.00		\$0.00
64	RECONSTRUCTED INLET, TYPE 'B', USING EXISTING CASTING	24	UNIT	\$700.00	\$16,800.00	\$2,500.00	\$60,000.00	\$1,000.00	\$24,000.00
65	RECONSTRUCTED INLET, TYPE 'E', USING EXISTING CASTING	1	UNIT	\$700.00	\$700.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
66	RECONSTRUCTED MANHOLE, USING EXISTING CASTING	1	UNIT	\$700.00	\$700.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
67	RECONSTRUCTED MANHOLE, SANITARY SEWER, USING EXISTING CASTING	1	UNIT	\$700.00	\$700.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
68	NO ITEM				\$0.00		\$0.00		\$0.00
69	INLET CONVERTED TO MANHOLE	2	UNIT	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	\$2,300.00	\$4,600.00
70-80	NO ITEM				\$0.00		\$0.00		\$0.00
81	BREAKAWAY BARRICADE	50	UNIT	\$0.01	\$0.50	\$0.01	\$0.50	\$0.01	\$0.50
82	DRUM	100	UNIT	\$0.01	\$1.00	\$0.01	\$1.00	\$0.01	\$1.00
83	TRAFFIC CONE	200	UNIT	\$0.01	\$2.00	\$0.01	\$2.00	\$0.01	\$2.00
84	CONSTRUCTION SIGNS	500	S.F.	\$11.00	\$5,500.00	\$0.01	\$5.00	\$0.01	\$5.00

SUMMARY OF BIDS



SPECIFICATION NO. 22-06

Bid 1 of 4 RE Pierson Construction Co., Inc. 426 Swedesboro Road Pilesgrove, NJ 08098 856-624-6165 pstubbs@repierson.com	Bid 2 of 4 South State Inc. PO Box 35 Bridgeton, NJ 08302 856-451-5300 bbryan@southstateinc.com	Bid 3 of 4 Earle Asphalt Company PO Box 556 Farmingdale, NJ 07727 P. 732-308-1113 delaney.rasmussen@earleco.com
--	---	---

Item No.	Description	Approx. Quantity	Unit	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	
85	NO ITEM				\$0.00		\$0.00		\$0.00	
86	ARROW BOARD, 4'x8'	2	UNIT	\$0.01	\$0.02	\$10.00	\$20.00	\$0.01	\$0.02	
87	PORTABLE VARIABLE MESSAGE SIGN	2	UNIT	\$1,200.00	\$2,400.00	\$5,000.00	\$10,000.00	\$3,500.00	\$7,000.00	
88	TRAFFIC CONTROL TRUCK WITH MOUNTED CRASH CUSHIONS	1	UNIT	\$1,700.00	\$1,700.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	
89	TRAFFIC DIRECTOR, FLAGGER	500	M.H.	\$86.63	\$43,315.00	\$86.63	\$43,315.00	\$86.63	\$43,315.00	
90	NO ITEM				\$0.00		\$0.00		\$0.00	
91	CLEANING EXISTING PIPE, 12" TO 48" DIAMETER	1100	L.F.	\$12.00	\$13,200.00	\$8.00	\$8,800.00	\$8.00	\$8,800.00	
92	CLEANING DRAINAGE STRUCTURE	35	UNIT	\$490.00	\$17,150.00	\$500.00	\$17,500.00	\$255.00	\$8,925.00	
93	VIDEO INSPECTION OF PIPE	1100	L.F.	\$6.00	\$6,600.00	\$6.00	\$6,600.00	\$6.00	\$6,600.00	
94	12" DIAMETER PIPE LINING	500	L.F.	\$103.00	\$51,500.00	\$105.00	\$52,500.00	\$115.00	\$57,500.00	
95	15" DIAMETER PIPE LINING	380	L.F.	\$145.00	\$55,100.00	\$150.00	\$57,000.00	\$155.00	\$58,900.00	
96	18" DIAMETER PIPE LINING	760	L.F.	\$123.00	\$93,480.00	\$125.00	\$95,000.00	\$130.00	\$98,800.00	
97	24" DIAMETER PIPE LINING	70	L.F.	\$385.00	\$26,950.00	\$400.00	\$28,000.00	\$415.00	\$29,050.00	
98	NO ITEM				\$0.00		\$0.00		\$0.00	
99	19"x30" ELLIPTICAL PIPE LINING	360	L.F.	\$267.00	\$96,120.00	\$300.00	\$108,000.00	\$280.00	\$100,800.00	
100	NO ITEM				\$0.00		\$0.00		\$0.00	
					Total Bid	\$2,120,320.22	Total Bid	\$2,279,439.60	Total Bid	\$2,365,513.13

Barry C. Beckett
Barry C. Beckett P.E.
County Engineer

8/7/24
Date